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(2) 4x* -9,

ARSWEr(A) ..\ isiseveescreniarerssiresssssssnesssesiaressires [1]
(b) 4x’ - 9x,
ARSWer(D) .. s e (1]
(¢) 4x*—9x+2.
ANSWEN(C)  ..onnvceisressrecincarnsressnseersssessssssssrens 12]
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20 (a) Factorise completely 12x’ --3y2,
ARSWEI(A) .o ovvisserissseriscensscssssnarssssnessensssten [2]
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(b) (i) Expand (x — 3)1.,
AnsWer(B)(1) ., vvvcreeseersssrsenrecorserssnssessesesnesens [2]
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(i) x° —6x+10 is to be written in the form (x ~ p) +q.

Find the values of p and 4.

Answer(B)(D) P = . .iviiiiiins q= [2]
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